UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM

PART NUMBER / DWG NO.:

KO02'Y

NAME SIGNATURE DATE REVISION

DRAWN M.Rebase 03.03.2015 DESCRIPTION:
APPVD Swing construction BELL-FLOWER

‘5 Tiptiptap OU

%, = = ouU Veetorni 9, MATERIAL: A

-IX%P TI ptl ptap JUri alevik, Rae vald, wood, metal, plastic A4
75301 Harjumaa
WEIGHT: | SCALE: 1:30 SHEET 1 OF 9




1 2 3 4
_ 2880 _
A
1

~O ; o

™ —— —— (@)

L ——J — A o0

N N

Y )
Y
. 3572 _
UNLESS OTHERWISE SPECIFIED: PART NUMBER / DWG NO.:
WEGHT ARE N KLOGRAMM K002 Y
NAME SIGNATURE DATE REVISION
DRAWN|  M.Rebase 03.03.2015 DESCRIPTION:
APPVD Swing construction BELL-FLOWER
‘5 Tiptiptap OU
T H H ouU Veetorni 9, MATERIAL: -
TX;’P TI ptl ptap JUri alevik, Rae vald, wood, metal, plastic A4
75301 Harjumaa
WEIGHT: | scae s SHEET 2 OF 9




foundation
A B 2880

1
B
00| 8
N
] ]
| ) |
i | i B B ||
T Y |
o o
C o o
N 0
N N
(T T 1 |
1 | _ . . N
D
Y
- 3600 _
E
DIMEENSIONS ARE I MILLIMETER PART NUMBER / DG NO::
WEIGHST(:REIN KILOGRAMM ’ K002 Y
NAME SIGNATURE DATE REVISION
DRAWN M.Rebase 03.03.2015 DESCRIPTION:
APPVD Swing construction BELL-FLOWER
F ..
\p Tiptiptap OU
T H H ouU Veetorni 9, MATERIAL: -
TP Ti ptiptap® ju aievik Rae vaia, wood, metal, plastic A4
Ap :
75301 Harjumaa
WEIGHT: | SCALE: 1:50 SHEET 3 OF ¢




[ T T j r 1 o o
o~
o)
AN
[ —] Aﬂ
- - - - ! _ _ _
- 3572 _ - 2536 _
ground
DIMEENSIONS ARE I MILLIMETER PARTNUMBER / DWG NO::
WEleHSTgRélN KILOGRAMM ’ K002 Y
NAME SIGNATURE DATE REVISION
DRAWN M.Rebase 03.03.2015 DESCRIPTION:
APPVD Swing construction BELL-FLOWER
‘5 Tiptiptap OU
T H H ouU Veetorni 9, MATERIAL: -
TX;’P TI ptl ptap JUri alevik, Rae vald, wood, metal, plastic A4
75301 Harjumaa
WEIGHT: | SCALE: 1:50 SHEET 4 OF ¢




M PART NUMBER DESCRIPTION Qry.
1 |beam 76x2828 galvanized steel 1
2 [side fixture plastic 2
ey rubber compound with
3 [seat complect with fixings aluminium insert 2
4  |post 98x98x2720 laminated wood 4

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM

NAME SIGNATURE DATE

REVISION

PART NUMBER / DWG NO.:

KO02'Y

DRAWN M.Rebase 03.03.2015

APPV'D

A Tiptiptap™

Tiptiptap OU
Veetorni 9,

JUri alevik, Rae vald,
75301 Harjumaa

DESCRIPTION:

Swing construction BELL-FLOWER

MATERIAL:

wood, metal, plastic

A4

WEIGHT:

| SCALE: 1:30

SHEET 5 OF 9




/ : 1
) Tl l?
B
o
e
™
N
C
)
o o
@) 1\ o
< \\ N
Y B | _ _ _
\\ A
1 o
4AIRYEN >
T
ground \y
Wi
D 3
concrete
E
UNLESS OTHERWISE SPECIFIED: PART NUMBER / DWG NO.:
WEGHT ARE IN KLOGRAMM KOO2'Y
NAME SIGNATURE DATE REVISION
DRAWN M.Rebase 03.03.2015 DESCRIPTION:
APPVD Swing construction BELL-FLOWER
?‘.P‘ T- t- t oU Tl\/pélg’:gr?“(gy MATERIAL: .
P IPUPTAP  Jori alevik, Rae vald, wood, metal, plastic A4
75301 Harjumaa
WEIGHT: | SCALE: 1:25 SHEET 6 OF 9




] ~ 2N //
\% CéQ /3 4
e~ C/
. @ o @
post
ground
fixing
ITEM
NO. PART NUMBER
1 |bolt DIN603 M12x120
2 |nut cover M12
3 [nut DIN985 M12
4 |nut cover cap M12
WEIGHT ARE IN KILOGRAMM K002 Y
po - Swing construction BELL-FLOWER
Tiptiptap OU
Veetorni 9, MATERIAL:

A Tiptiptap™

Juri alevik, Rae vald,
75301 Harjumaa

wood, metal, plastic

A4

WEIGHT: | SCALE: 1:10

SHEET7 OF 9




N7 PART NUMBER
1 |side fixture
2 |nut cover M10
3 |washer M10
4 |bolt DIN931 M10x140
5 |nut DIN985 M10
6 |nut cover cap M10

UNLESS OTHERWISE SPECIFIED:

DIMENSIONS ARE IN MILLIMETERS

PART NUMBER / DWG NO.:

WEIGHT ARE IN KILOGRAMM K002 Y
NAME SIGNATURE DATE REVISION
DRAWN M.Rebase 03.03.2015 DESCRIPTION:
APPVD Swing construction BELL-FLOWER
Tiptiptap OU
N1 T- t- t ouU Veetorni 9, MATERIAL: .
P IPUPTAP ™ Jui alevik, Rae vald, wood, metal, plastic A4
7530] HOI’JUFT]OCI WEIGHT: | SCALE: 1:100 SHEET 8 OF 9




ITEM
NO.

PART NUMBER

1 |nut DIN985 M12

2 |domed cap nut DIN1587 M12

3 |seat complect with fittings

UNLESS OTHERWISE SPECIFIED:

DIMENSIONS ARE IN MILLIMETERS

PART NUMBER / DWG NO.:

WEIGHT ARE IN KILOGRAMM K002 Y
NAME SIGNATURE DATE REVISION

DRAWN M.Rebase 03.03.2015 DESCRIPTION:
APPVD Swing construction BELL-FLOWER

.5 Tiptiptap OU

(1} - . ou Veetorni 9, MATERIAL: .

-IX%P TI ptl ptap JUri alevik, Rae vald, wood, metal, plastic A4
75301 Harjumaa
WEIGHT: | SCALE: 1:15 SHEET 9 OF ¢




	Sheet1
	Drawing View1

	Sheet2
	Drawing View2

	Sheet3
	Drawing View3

	Sheet4
	Drawing View4
	Drawing View5
	Drawing View6

	Sheet5
	Drawing View7

	Sheet6
	Drawing View12

	Sheet7
	Drawing View11

	Sheet8
	Drawing View9

	Sheet9
	Drawing View10


